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TELECOMMUNICATION & SWITCHING NETWORKS

fFruiRa wr . AR [Stftram 37 : 70

Time allowed : Three Hours] [Maximum Marks : 70

e ;

Note :

(i1)
(iii)
(iv)

W)

(ii)

() FuF 57 I 8, 99 7 @ fFET e & 3w 53
Question No. 1 is compulsory, answer any FIVE questions from the remammg
(ii) TP 97 & T4} YT B HHAR OF G §F FHAD |
Solve all parts of a question consecutively together.
(iii) FA% 577 F1 73 98 G IRE] FHord |
Start each question on fresh page.
(iv) &1 99T 7 3w 817 1 1R & i g = 8 1

Only English version is valid in case of difference in both the languages.

& T i Ry HIRa |

Define the term Busy hour.

THFMEME ?

What is Trunk ?

STITNT TTFAI 6T 941 IYENT 2 ?

What is the use of Application software ?

T h AR AT A @ ¢
- What is meant by Grade of service.

LAN T WAN & 7ea 1§ of 3t farfadt | .

Write any two differences between LAN & MAN. (2%5)

weTietd Sefiwi waaes % o ud gt Rl | |
Write the advantages and disadvantages of automatic telephone exchange.
QU 3TRG ! TERET & FARIh B T8 H HRIYUNEN I guzned |

Explain the working of electronic telephone handset with the help of block
diagram. (6+6)
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3. (@) forr 7 & 25 MTBF = 2000 H2 T8 MTTR = 4 2 | g STat o <t Sefssren a2

FuETEdT T HIfE |
Given that MTBF = 2000 hours and MTTR = 4 hours, Calculate the availability
and unavailability of dual processor system.

(i) ' Tt SPC i faftr wll i st i qaw § qued |
Explain in brief the different levels of processing in a distributed SPC. (6+6)
4 () e ged § e odi # s we S
Differentiate between the following terms with reference to telecommunication.
(a) TS T AH BIeSS A2
Folded and non-folded network.

(b) F=higpd SPC T feraf@ SPC
Centralised SPC and distributed SPC
(i) ﬁ%mﬁdﬁawﬁw@a%aaﬁmwwﬁaﬁm@ |

Explain the working of input controlled time division space switch. (3x2, 6)

5. (@) mm%mmm@mu
Explain delay system in traffic analysis. | '
(ii) @m@@%mﬁsmAﬁqzqézﬁqz%eﬂqmsﬁam
2 | e 2Rbe H1 T (Erlang) T& CCS & 1d HIf |

A subscriber makes three phone calls of 3 minutes, 4 minutes and 2 minutes duration
in a one-hour period. Calculate the subscriber traffic in Erlang & CCS. (6+6)

6. () PSTNwTn# ? foream @ wmged |
What is PSTN ? Explain in detail.
(i) MAN TS LAN % Sifreieor = ger Hid |
Compare the characteristics of MAN and LAN. (6x2)

7. @) LAN % 3uwifiar i fads A |
Discuss the utility of LAN.
(ii) R SeER g 3 v 6 S areh fifte T S e |

Explain the various tones used in automatic telephone exchange. (6x2)

g. o it @ foredl St v wifi feoaforart o :

Write short notes on any two of the following :

G) R Yeash & fo whfam R
Switching capacity for two stage network.

(i) e whtem

'~ Combination switching

(i) 3.l wm

EPABX (6%x2)



